o

,j//////// /7777777 / // .

// Name_____ Date
4 .oooooooooooooa.
7% o !
~ {NoKidding! : -
. :NoKidding! : -
e
oooooo.ooooooo' f(‘
e
o 4
il | a
What's the tallest building in town? ik ﬁ
1
hola gt

Solve the problems below. Locate your answer in the code boxes and
write the letter from the matching problem above it. If the answer
appears in more than one box, fill in each one with the same letter.

(05 x 3)+03 = C C-= (S x09)+02 =47 S=
6x03)+25=M M= (0.7 x 07)+012 =E E-=
(8 x 0.6) +R = 5.0 R - (2.2 x 4)+0.7 = A A=
5 (03 x 03)+023=H H-= 8 x 07) +L = 63 L~
&
S (TxD+l=493 I- (04 x 08)+007 =Y Y=
I.._
§ (0.4 x B)+0.03 = 019 B = (09 x 05)+0 = 049 O =
c (9 x 03)+U = 35 U= __ (Tx09)+04=76 T= ___
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